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for 1 in range(l,10):
for j in range (1,10):
if 1%j <10 :

print (', i%¥j, end=" )

else :

print (i*j , end=" ’)

print(end =" \n")
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>>> ¢=" abcde’
>>> print(C \tJerome %s’ % c)
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>>>print("\\101 is \101.\n")
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p4-5 A RE >>> print("%8d" %a) >>> a=1234
a=1234 1234 >>> b=12.34
>>> print("%8d" %a)
1234
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for 1 in range(ntl):

S=s+1
print(s)
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>>>name='Jerome’
>>> len(name)

6
>>> for ch 1n name:
print(ch)
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for x in range(2, n):
ifn%x==0:
print(n, =", x, "X, n//x)
break
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print(n, &5 # )
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Import math

import math
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(1). #fEF c= chr(int)
(2). F4#9 n=ord(char)
[fBaHE]
>>> a=123
>>> b=" 456’
>>> print(atint(b))
579
>>> print(str(a)+b)
123456
>>> print(chr(65))
A
>>> print(ord(C A’ ))
65
>>>

# ASCII

#ASCI 1
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if (xy):

X,y =V,Xx % EiAFAHEEKLy
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p9-8 ERIBIE hstr="0123456789ABCDEF’
if (n==20) :
x= 0
while ( n > 0 ):
p9-8 B1E E1E dec=26 dec=18
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P10-13AE X/ Dict. update([other]) dict. update([other])
P10-13ABX/IE StrO) strO)
P10-13ABX/IE Str(dict) str(dict)
P10-14KEH/NE Not in not in
P11-4 #3 ~ #6 Fergrh 5[ " AR MR
P11-6 #9-1~ #9-2 | Zoi&th 2 (M " RrHEMibR:
P11-8 #19 ~ #20 FAgH 2 " RESR R
P12-8 {EEi2s print( ¢ + " 1 ASCII =", ord(c))

n=65

print( "ASCII",n, " &3 =~=", chr(65))
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A = ASCIT &= 65
a 7 ASCIT &= 97
ASCIT 65 ehz ~= A
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